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« ASCIRZIUTIfT1a9e /R /LAKRRET D

e <jd>_—<locationX>__<locationY>_.<orientationX>.<orientationY>¥n

o X(EM
char line [1024] ;
sprintf (line, "%d %f %f %f %f¥n", id, locationX, locationY, orientationX, orientationY) ;
send (socket, line, strlen (line), 0) ;

- 2(EM
char line [1024] ;
length = recv (socket, line, sizeof (line), 0) ;
sscanf (line, "%d %If %If %If %If", &id, &locationX, &locationY, &orientationX, &orientationY) ;
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« ASCIRZIUTIfT1a9e /R /LAKRIRET D

e <jd>_<locationX>_<locationY>_.<orientationX>._<orientationY>¥n

. (M
writer = new PrintWriter (socket.getOutputStream (), true) ;
writer.printin (id + " " + locationX + " " + locationY + " " + orientationX + " " + orientationY) ;

writer.flush () ;

o Z{EH
reader = new BufferedReader (new InputStreamReader (socket.getlnputStream () ) ) ;
line = reader.readLine () ;
tokens = new StringTokenizer (line) ;
id = Integer.parselnt (tokens.nextToken () ) ;
locationX = Double.parseDouble (tokens.nextToken () ) ;
locationY = Double.parseDouble (tokens.nextToken () ) ;
orientationX = Double.parseDouble (tokens.nextToken () ) ;
orientationY = Double.parseDouble (tokens.nextToken () ) ;
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<l

o 1712/ R/LAKRLAICTELRWGS
- REWITERITS

(XFEFIEAA)
> telnet is.is.oit.ac.jp 587
220 is.is.oit.ac.jp ESMTP Postfix (Ubuntu)
EHLO is.is.oit.ac.jp
250-is.is.oit.ac.jp
250-PIPELINING
250-SIZE 10240000
250-VRFY
250-ETRN
250-STARTTLS
250-ENHANCEDSTATUSCODES
250-8BITMIME
250 DSN
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struct marker {
;ﬁu long id;
float locationX;

float locationY:;

g . - float orientationX;

» EET-FEEERICTS float orientationY;

}
o X(EMl - S2(EM

network_id = htonl (marker.id) ; unsigned char data [20];
network_locationX = htonl (marker.locationX) ; size = recv (socket, data, sizeof (data), 0);
network_locationY = htonl (marker.locationY) ; marker.id = ntohl (% ( (long¥) data) ) ;
network_orientationX = htonl (marker.orientationX) ; marker.locationX = ntohl (X ( (floatx) (data + 4));
network_orientationY = htonl (marker.orientationY) ; marker.locationY = ntohl (% ( (float) (data + 8) )
unsigned chark data[20]; marker.orientationX = ntohl (% ( (float¥) (data + 12));
memcpy (data, &network_id, 4) ; marker.orientationY = ntohl (X ( (floatx) (data + 16)):
memcpy (data + 4, &network_locationX, 4);
memcpy (data + 8, &network_locationY, 4) ;
memcpy (data + 12, &network_orientationX, 4) ;

memcpy (data + 16, &network_orientationY, 4) ;
send (socket, data, sizeof (data), 0):



struct marker {

;ﬁu long id;
float locationX;

float locationY:;
float orientationX;

SERICTS float orientationY:
}

E
T
Nl
|
v
by
o

. (=M - (S

send (socket, &marker, sizeof (marker), 0); size = recv (socket, &marker, sizeof (marker), 0) ;



class Marker {

;ﬁu long id;
float locationX;

float locationY:;
. — - float orientationX;
- EfETF—2EEERICTS float orientationY;

}
o X(Ef

output = new DataOutputStream (socket.getOutputStream () ) ;
output.writeLong (marker.id) ;
output.writeFloat (marker.locationX) ;
output.writeFloat (marker.locationY) ;
output.writeFloat (marker.orientationX) ;
output.writeFloat (marker.orientationY) ;
output.flush () ;

- SZ(EM
input = new DatalnputStream (socket.getinputStream () ) ;
id = input.readLong () ;
locationX = input.readDouble () ;
locationY = input.readDouble () ;
orientationX = input.readDouble () ;
orientationY = input.readDouble () ;
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*iot_l MU BICT =21 X21BHiIAL
<id>, <version>, <I|nkCount> <link>, <link>, <link>, .

o X(El
unsigned char data[1024];
data[0] =
data[1] = version;
data[2] = linkCount;
for (inti = 0:i < linkCount; i++)
data[i + 3] = links [i];
send (socket, data, 3 + linkCount, 0) ;

o SB{EM
unsigned char data[1024];
size = recv (socket, data, 3, 0);
id = data [0];
version = data[1];
linkCount = data[2];
size = recv (socket, data + 3, linkCount, 0) ;
for (inti = 0:i < linkCount; i++)
links [i] = data[i+3];
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« NTIMIAATT YL X%HTS

o X{E
unsigned char data[1024];
<F—2DElR>
size = <F—=2NY1LX>;
sendto (socket, data, size, 0, &address, sizeof (address) ) ;

. 2
unsigned char data[1024];
size = recvfrom (socket, data, sizeof (data), 0, &address, sizeof (address) ) ;



<l

« NTIMIAATT YL X%HTS

o X(FM
data = new byte [1024];
<F—20D%ER>
size = <F—=2NY1LX>;
packet = new DatagramPacket (data, size, address) ;
socket.send (packet) ;

o S2{EM
byte [] buffer = new byte [1024];
packet = new DatagramPacket (buffer, buffer.length) ;
socket.receive (packet) ;
size = packet.getLength () ;
data = packet.getData () ;
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Server Client

(H—KZRI217T3)

<-- (connect)
PlayerCards O % -->
PlayerCards 1 % -->
FieldCards % -=>
(IEDDI517 /M EtED)

(91T /DB AR EREL7=5)
Start -->
Tun 0O -->

Hand <id> <card>
Tun 1 1

Hand <id> <card>
Turn 0 2

Claim <id>

(F7rDHIE)
(3#FFD)
PlayerCards O
PlayerCards 1
FieldCards %
Turn 0 2

Hand <id> <card>

Hand <id> <card>

Claim <id>
(FobOREHL - h—k2H<)
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